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QUESTION 1

What provides an analysis of trends of risks in different risk categories? 

A. Risk management strategy 

B. Risk progress report 

C. Risk communications plan 

D. Risk improvement plan 

Correct Answer: B 

 

QUESTION 2

Who does a \\'risk actionee\\' keep up to date on progress when implementing a response to a risk? 

A. Senior team 

B. Audit committee 

C. Risk owner 

D. Team 

Correct Answer: C 

 

QUESTION 3

Which BEST describes the \\'reduce the threat\\' risk response option? 

A. Changing the planned tasks in an activity 

B. Performing an action to minimise the chance of a risk impacting objectives 

C. Monitoring a risk to ensure it remains within acceptable tolerance 

D. Partaking in a pain/gain contract with another party for a specified risk 

Correct Answer: B 

 

QUESTION 4

Which action is NOT needed in order for risk management to be effective? 

A. Identify the risk 

B. Eliminate the risk 
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C. Assess the risk 

D. Control the risk 

Correct Answer: B 

 

QUESTION 5

Which is a common barrier to implementing the risk management process? 

A. Lack of a high-risk appetite at senior management level 

B. Lack of an appropriate response to a risk in an activity\\'s risk register 

C. Lack of an assigned risk owner 

D. Lack of risk facilitation resources and time 

Correct Answer: D 
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